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a:R->ROC 000 (r>3)0 |/|=1000{k,7,T,N,B}0 a0 Frenet-Serret 0 O [
ERERE

1. 00002 000000000000
(1) jul=|v|=1,(u,v)=000000000
{fuv,w}ORODOD0000D0000 & w=uxv

Jodddobobooidiw=uxvUUOUOOu=vxw,v=wxuldUOOU
(2) T=NxB, N=BxTOOOO

2. k=cr00000¢00000000e0000000000000000000000
(1) k=c,k*+1?=100000%/00000000000

(2) (1)0 k1000 u=I(T++BO0O0OFrenet-Serret 0 000000 w=00000
3) u/=1,(T,u)=/00000000

3. k=1, 7=000000000 «00OD00 |&|=10000000000000

() 0000 «0D00D0000T=-TOOOODDOODOOO

(2) 000000000 uw,vOOOOT = (cost)u+(sint)vD (1)000000000
0000000000

3) ()0 w,vO0OOO aO0O00O

1 0 0
(4) a(0)=0,T(0)=[0|,NO)=|1|,B00)=|0| 00000000000
0 0 1

(5) )0 000 «000D000O0 K, =1, 7,=000000000000
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L. (1) {u,v,w}O0O0O00000{v,w,u}, {w,u,vi0000

2. (1) kI000000000O0O0ODOODOOOOO (20O00ODOOOO

3. (1) Frenet-Serret 00 O (1), (2)0000@B) T=a'00 /OtT(s) ds = a(t) — a(0).
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